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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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,Deﬁﬁe (i) Probable etfo 'm
. State the laws of weights. &) (04 Marks)
& ,Angles were measured on a station and the observations were recorded as follows. Find the
mass probable values of angles A and, B,

Fo}rth Semester B.E. Degree Exammatmn, Jan./Feb.2021

Advanced Surveymg

M Se
What are the elements of a snnple cn‘cular curve? ~ by (04 Marks)
Calculate the ordinates at 10, m d1stance for a circular curve: havmg a long chord of 80 m
and a midordinate of4 m. = y (04 Marks)

Two tangents intersect aty chamage 1200 m, the deflection angle being 40°. Compute the data
for setting out a 400 m» radlus curve by Rankme%s deﬂectlon angles method. Take 30 m

chord length. Tabulate the¢resu1ts (08 Marks)
‘:v ‘ %, OR‘/’\'J VV 4 )

With neat sketch, explam various elements of; ‘@ compound curve. (04 Marks)

Define : (1) Trans1t10n curves (i1) Super elevation. (04 Marks)

A reversé,curve is to be set out between two parallel tangents 10 m apart. The distance
between the tangent points measured parallel to the tangents is 80 m. If the radius of the first
branch 15150 m, calculate the radlus of the second branch Also calculate the lengths of the
two branches. What would be the equal radius of the’ branches of the two reverse curve? If
the chainage of first tangent: pomt is 1988 cm, determme the chamages of the point of

reverse curvature and the second tangent. %) (08 Marks)
é Module-2"

Define satellite station and reduction to centre. j (04 Marks)

Mention the points 0 be considered in'the seélection of tnangulatlon station. (04 Marks)

Directions are observed from a satelhte station S, 62. 18 mdrom station C. Following results

were obtamed ZA=0°0'0", LBSA 71°54'32" and” ZASC 296°12'02" . The approximate
lengths of AC and BC were 82 '60 m and 10863 60 m. ‘Calculate the angle ACB. (08 Marks)

Oi

OR . *
(i) Mean sqﬁare’error. (04 Marks)

A =45 30’10” we1ght2
B =40 20’20" welght 3

A+B=8550'10" welght 1 (08 Marks)
Module-3

Define the terms : (i) The zemth and Nadir  (ii) The declination (iii) Hour circle

(iv) Prime verticales _ (04 Marks)

What is spherlcal tnangle‘? Mention its properties. (04 Marks)

Find the shortest distance between two places A & B given that the latitude of A and B are

15°0'N and 12°6'N and their longitudes are 50°12'E and 54°0'E respectively. Radius of
earth = ¢ (08 Marks)
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Define the terms : (i) Celestial sphere (ii) Azimuth (iii) Hour angle
(iv) Altitude 4 (04 Marks)
Explain Astronomical triangle. ¢ , (04 Marks)
Explain spherical excess and derive the expres51 n’ (08 Marks)
Module—4 \
Define : (i) Principal point [N (1) Tilt (111) Flying height
(iv) Scale of a vertical photograph <3 (04 Marks)
A line AB measures 11.00 cm onva photograph taken with ay camera havmg a focal length of
21.5 cm. The same line measures 3 cm on a map drawn to scale of ! o Calculate the
flying height of the aircra "1f the average altitude is, 350 m. (04 Marks)
Two points A and B (hay ng elevations of 650 m, and 250 m respectively above datum,
appear on a Vertlcal photograph obtained with a camera of focal length of 250 mm and
flying altitude of 2700 m above datum. Thelr/photographlc coordinates are as follows:
Point Photographw coordinates
’ x'cm’ y cm
a 13.65 +2.54
b 4.-2.25 +5.59
Determme the length of the ground lme AB. (08 Marks)
& OR
Derive an expression for rehef displacement on & Vertical photograph” ’ (08 Marks)
The scale of an aerial photography is lem =100 m'. The photograph size is 20 cm x 20 cm .
Determine the number of photographs requlred to cover an. area 10km x10km, if the
longitudinal lap i is 60% and the side cap 1S°30% (08 Marks)
gModule—S .
remote sensmg (08 Marks)
‘Explam the basic prmcxples of GPS and its' apphcatlon in surveymg (08 Marks)

2-What is GIS? Enumerate on GIS applications in civil engineering. (08 Marks)
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